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Addition two/three numbers up to 10000 #2

1390 4 5915 + 2770 =
4121 + 9927 =

8340 + 6095 + 8915 =
588 + 449 + 5964 =
5217 + 6226 =

3868 + 3778 =

2239 + 8358 =

8607 + 5967 + 9723 =
5929 + 7303 =

8160 4 8205 + 8444 =
5747 + 9301 + 9135 =
5319 + 2720 + 4393 =
8261 4 9210 + 8482 =
5109 + 3404 =

5094 + 137 =

4474 4 9694 =

4355 + 4011 =

930 + 5936 =

1358 + 1887 =

6112 4 4189 =
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Addition two/three numbers up to 10000 #2 (Solutions)

1390 4 5915 + 2770 = 10075
4121 + 9927 = 14048

8340 + 6095 + 8915 = 23350
588 + 449 + 5964 = 7001
5217 + 6226 = 11443

3868 + 3778 = 7646

2239 + 8358 = 10597

8607 + 5967 + 9723 = 24297
5929 + 7303 = 13232

8160 4 8205 + 8444 = 24809
5747 + 9301 + 9135 = 24183
5319 + 2720 + 4393 = 12432
8261 + 9210 + 8482 = 25953
5109 + 3404 = 8513

5594 + 137 = 5731

4474 4+ 9694 = 14168

4355 4+ 4011 = 8366

930 + 5936 = 6866

1358 4+ 1887 = 3245

6112 + 4189 = 10301



